Honors Precalculus							Notes for Graphing Piecewise Functions
Piecewise functions are those functions that are defined by multiple sub-functions for different intervals of x.  The absolute value function is commonly defined as a piecewise function:
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Here are some examples for how to graph piecewise functions.
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Evaluating Piecewise Functions
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Writing Piecewise Equations
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Let's do one with three pieces...
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Let's put up the fencing:
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Remember that they can't cross over into the other neighborhoods!
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OK, so why are we being so careful about not crossing the fences

into the other neighborhoods?

Because these guys are functions! Remember that functions have to
pass the vertical line test.
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Evaluate the following for £(x) = {

1) 2. f(4) 3. f(-:3)

—2px 1), x<1
Evaluate the following for £(x)={3, 1<x<3 :
6-2x, x23

4. (10) 5. f(2) 6. f(0)




image13.png
Ex1.
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Each piece must live ONLY in its own neighborhood.

Let's put up a fence, so we don't make any mistakes:
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Now, we just need to figure out who the fence owner is...
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Now, let's graph part @) :
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